. A
WZ13-100S5P + TOONSSP WAGNER

EERCTRUEER (WZ13-100SSP)

* MW2SF30GZ
* MW3SF30G18

[C40015A

1
Ak - i - MR T ERKERT2ENHYET, 2024.06



- ° A
WZ13-100S5P + TOONSSP WAGNER

=SEHR>T (WZ13-100SSP)

5 IC40037A
AR « i - MRS T ERKEET2HR/HVET, 2024.06



WZ13-100S5P + TOONSSP

A
WAGNER

MWF2SF30G( /1) 77 )L No.14xxxx)

POS S B e TEAM ik
1 2110712 (U2 0/r—A 1 MW2SF30G

2 2110713 |[AANT527 O U 74 1 2,200

3 2110714 (O Vv (2) 460(P20

4 2110715 |RLo 797 1 910

5 2110725 |FifH#E 1 3,500(/ N2 A

6 2110769 |F /Sy (1) 780

7 2110723 | X7V 1 1,500| # 6204

8 2110724 (A F w7V 1 400(/CH C Al 47
9 2110716 |77 %7k 1 19,100|MW2+3SF30G
10 | 2110726 |=vmyR 3 10,700

11 | 2110718 |_7VUZ 1 3,900(6006

12 | 2110719 |AA—)v 1 1,500{D30477

13 | 2110720 (O V2 1 1,100{S112

14 | 2110717 | TV T lr—2A 1 6,200

15 | 2110721 |+ A0k 3 150|/M6 X 16

16 | 2110722 | —AUyip— 3 150

17 | 2110728 |E°xhyv 3 4,400

18 | 2110727 |[E°ARL 3 520 9 X 22

19 | 2110729 |Vysv— 3 27017 X 24 X 1.2
20 | 2110730 |F AL —v 3 1,600[S10.5 X 24 X 7
21 | 2110731 |3 —VUF—F— 3 200

22 | 2110772 [KJEI —/L 3 1,700|MW2-3SF30G
23 | 2110739 | AAr—=A 1 12,000

24 | 9904407 |NASNSTTZS 1 250|R1/4

25 | 2110732 |[R)—7 3 5,100 737

26 | 2110735 | A LT 3 2,100

27 | 2110733 [A~S—H— 3 1,300[MW2-3SF30G
28 | 2110734 |[WMART VY 3 300

29 | 2110736 |MS% 3 150

30 | 2110771 |[I{EFISAT Vb 3 650(M6

31 | 2110738 |Eler 3 270/ ¢ 1.6 X 10
32 | 2110741 |@ET—/L 3 4,600

33 | 2110742 |[AA—H— 3 2,600

34 | 2110743 |0V 3 400[P22

35 | 2110744 |M:HHApT—h 3 1,900

36 | 2110784 |HH LT 3 910|MW3SF28G
37 | 2110748 |M:HART VYL 3 870

38 | 2110746 [AFVL T Ar—2A 3 400

39 | 2110745 |M:HAr—=% 1 10,200

40 | 2110749 [ISA SRS 6 400|M8 X 75

41 | 2110750 |79 1 3,800

42 | 2110752 |/SAAAR/LE 4 150[3/8UNC X 35
43 | 9921507 |AF VLT Uy p— 4 200[M10

44 | 2110773 |‘FUvi v 4 150

1k -

i A T ERKEE T DHERDHVET,

3

LC40037A
2024.06



WZ13-100S5P + TOONSSP

A
WAGNER

MW3SF30G( 2'J7JL No. ~ 160099)

POS e i S TEAM ik
1 2110762 |77 0/r—A 1 80,900{MW3SF28-30G
2 2110713 |AANTF7 O Vo I7ft 1 2,200
3 2110714 [0V (2) 460|P20
4 | 2110715 |Rvo7o7 1 910
5 2110725 |#jh#A& 1 3,500 S A
6 | 2110769 |2l 3w (1) 780
7 | 2110723 | X7V 1 1,500| # 6204
8 | 2110724 |AF v AV 1 400[/XFH C 7Y 47
9 | 2110716 |7T7v i %7k 1 19,100|MW2-3SF30G
10 | 2110770 |z @b 3 6,000
11 | 2110718 | _7UL 1 3,900(6006
12 | 2110766 |[EFEMIGARA] AL —L 1 4,300|D30428
13 | 2110767 |0V 1 1,100[S100
14 | 2110765 [TV T r—= 1 3,000|MW3SF28-30G
15 | 2110768 |+ /R MAAR L 3 150[M6 X 14
16
17 | 2110728 |E°Zky 3 4,400
18 | 2110727 |E°ARLE 3 520 ¢ 9 X 22
19 | 2110729 (Vv v— 3 270[17 X 24 X 1.2
20 | 2110730 [AALP—)v 3 1,600[S10.5 X 24 X 7
21 | 2110731 [ —nVF—F— 3 200
22 | 2110772 [KJEL—L 3 1,700|MW2-3SF30G
23 | 2110739 [ A/r—A 1 12,000
24 | 9904407 |Nf4NSFTTT 1 250|R1/4
25 | 2110732 |[R)—7 3 5,100 737
26 | 2110735 WAL 3 2,100
27 | 2110733 |[AX—H— 3 1,300|MW2-3SF30G
28 | 2110734 (WM ART YL 3 300
29 | 2110736 |l 3% 3 150
30 | 2110771 PEAF/Sf4F vk 3 650|M6
31 | 2110738 |#Er" 3 270 ¢ 1.6 X 10
32 | 2110741 |[&E—L 3 4,600
33 | 2110742 |A—H— 3 2,600
34 | 2110743 |0 V7 3 400|P22
35 | 2110744 |hH AL —b 3 1,900
36 | 2110784 [|M:H L7 3 910|MW3SF28G
37 | 2110748 |M-HAT Vo 3 870
38 | 2110746 | ATV T Ar—= 3 400
39 | 2110745 |mhHAr—=A 1 10,200
40 | 2110749 |NA ARV E 6 400[M8 X 75
41 | 2110774 |75 1 5,900
42 | 2110752 [ASAAHRLE 4 150{3/8UNC X 35
43 | 9921507 (AU T p— 4 200/M10
44 | 2110773 |"FUv v 4 150

4 LC40037B

AR « 50 - MSIE T ERSKERET2F/HETS, 2024.06



. A
WZ13-100S5P + TOONSSP WAGNER

MWF3SF28G( /)77 )L No.160100 ~ )

POS e il S TEAM i
1 2110762 |77 0/r—A 1 80,900|MW3SF28-30G
2 2110713 |AANTF7 O VI ft 1 2,200
3 | 2110714 |0V (2) 460[P20
4 | 2110715 |Rvo7o7 1 910
5 2110725 |#jh#A& 1 3,500(/ 3 A
6 | 2110769 |AL 3wk (1) 780
7 | 2110723 | RXT7VUL 1 1,500|# 6204
8 | 2110724 |AFw Vs 1 400[/CH C Al 47
9 | 2110781 |7F7v 7 %7k 1 20,900|{MW3SF28G
10 | 2110770 |z mwb 3 6,000
11 | 2110718 | _7Ur 2 1 3,900/6006
12 | 2110766 |[BEFEMGARA] A AL —L 1 4,300|D30428
13 | 2110767 |0V 1 1,100{S100
14 | 2110765 | X7V T Hr—=A 1 3,000|MW3SF28-30G
15 | 2110768 |+F/fF SRR 3 150|M6 X 14
16
17 | 2110728 |E°RAl 3 4,400
18 | 2110727 |[E°AR B> 3 520 9 X 22
19 | 2110729 |Uviv— 3 27017 X 24 X 1.2
20 | 2110730 [AAi—)L 3 1,600[S10.5 X 24 X 7
21 | 2110731 [2— U5 —F)— 3 200
22 | 2110772 [KJEL—v 3 1,700|MW2-3SF30G
23 | 2110739 [ A/r—=A 1 12,000
24 | 9904407 |NFNRATT T 1 250|R1/4
25 | 2110732 |[RU—7 3 5,100 73w
26 | 2110735 [ AT 3 2,100
27 | 2110733 |AX—H— 3 1,300|MW2-3SF30G
28 | 2110734 [ ARTV o 3 300
29 | 2110736 | 3% 3 150
30 | 2110771 [EFMSAT v 3 650|M6
31 | 2110738 |#Er" 3 270/ ¢ 1.6 X 10
32 | 2110741 |[&E—L 3 4,600
33 | 2110742 |[A~—H— 3 2,600
34 | 2110743 |[OV> 7 3 400(P22
35 | 2110744 |rhHFI—k 3 1,900
36 | 2110784 [H:H LT 3 910|MW3SF28G
37 | 2110748 |[H-HAT Vo 3 870
38 | 2110746 [(AFVL T AHr—2 3 400
39 | 2110745 |HA—= 1 10,200
40 | 2110749 |NA ARV 6 400|M8 X 75
41 | 2110774 |75 1 5,900
42 | 2110752 |[ASAFRILE 4 150[3/8UNC X 35
43 | 9921507 | ATV T Ty p— 4 200[M10
44 | 2110773 [SEUw 4 150

5 LC40037C

AR « i - MRS T ERKEET2HR/HVET, 2024.06



- ° A
WZ13-100S5P + TOONSSP WAGNER

= EAR T (WZ13-100NSSP)WHP10101(PN2111010)

[C40058A

AR « i - MRS T ERKEET2HR/HVET, 2024.06



WZ13-100S5P + TOONSSP

A
WAGNER

POS 7 e S TEA fii
1 | 2111011 |[ASFAARLE 3 150[M6X15
2 | 2111012 |Uwiv— 3 150(6.5x16x2t
3 | 2111013 [TV T HRNLE 1 3,100

4 | 2111014 |0 V2 1 780|S100

5 | 2111015 [AA/Ls—)b 1 780|MHSA30428
6 | 2111016 |R—TY T 1 2,000|BB6006
7 | 2111017 |27 47 mayR 3 3,700

8 | 2111018 |77 7 v 7k 1 15,900(ST4.3

9 | 2111019 [/ IEDEH 1 270|CR-47
10 | 2111020 |[R—_7VU 7 1 1,600(6204

11 | 2111021 (752 0/r—2A 1 42,700

12 | 2111022 [AAFvo T 1 2,200

13 | 2111023 [0V 2 150|P20

14 | 2111024 |[L~LiF— 1 2,000

15 | 2111025 [O U2 (1) 270(25.6x3
16 | 2111026 |[FLo7o7 1 520

17 | 2111027 |79 3 8,700

18 | 2111028 |[FFo V%t 3 650

19 | 2111029 [V —F2FTv r— 3 150|17x24x1.2
20 | 2111030 [A A/ —)L 3 910(S10.5x24xT #
21 | 2111031 |!XoFTHTH 3 270

22 | 2111032 |VFyRI—L 3 1,100

23 | 2111033 |3 V& 1 23,200

24 | 2111034 |AY—7 3 3,100

25 | 2111035 |[FTL P Sy 3 780

26 | 2111036 |7 3 1,800

27 | 2111037 (RV—THF— 3 270

28 | 2111038 |2 7L yiar AT 3 150

29 | 2111039 |[Z2=AL Uyl vy 3 150

30 | 2111040 |U Fvk 3 150|SUS.M6
36 | 2111041 |0 U2 6 150(P22

37 | 2111042 |HF— 3 780

38 | 2111043 |R 7 3L 7 KLT 3 2,600

39 | 2111044 |[»SL7 o —h (3) 910

40 | 2111045 [~ (3) 910

41 | 2111046 |z 7L yar AT T (3) 150

42 | 2111047 (ST — (3) 780

43 | 2111048 |\ 7H—= 1 27,600

45 | 2111049 |/ 7FHR LR 6 150|M8X75
46 | 2111050 |0 7949k 1 4,400

47 | 9920106 |"FU v — 4 200|M10

48 | 9921507 [AFVL T T p— 4 200|M10

49 | 2111051 |SARL 4 270/M10X35
50 | 2111052 |75 1 780|PT1/4Bs

1k -

i A T ERKEE T DHERDHVET,

LC40058A

2024.06



- ° A
WZ13-100S5P + TOONSSP WAGNER

7>oO—4—/\)L7 [VB7/3] (PN 2110560)
WZ13-100SSP + 100NSSP 338

15 (=D
B

o—

[C40019B

AR « i - MRS T ERKEET2HR/HVET, 2024.06



WZ13-100S5P + TOONSSP

A
WAGNER

POS i 4 B FEAM ik
2110560 |7rua—& L7 1 40,000[VB7/3

1 2110561 |&AKEvaA b 1 4,000|R3/8F

2 2110562 [O V7 2 520[20 X 1.8

3 2110563 |/3L 72—k 1 2,700

4 | 2110564 |O VU2 1 3,900

5 2110565 |FfpAR—/L 1 4,300

6 2110566 |/ T s 1 9,600(R3/8M

7 2110567 |\ 77TV 1 910[7.2 X 11.4 X 1

8 2110568 |0 Vo 2 520

9 2110569 |0 U 1 270[18 X 1.8

10 | 2110570 |[ERAR T 1 4,500

11 | 2110571 [/NFAIFHIEDHRL 1 190(M4

12 | 2110572 |[mvZ7F vk 1 1,300

13 | 2110573 [E"RAk» 1 5,800

14 | 2110574 |77V 1 1,100

15 | 2110575 |[ff#&/~ 1 3,500

16 | 2110576 |[fH%&F)k 1 3,800

17 | 2110577 [fHIEAT VT 1 2,600

18 | 2110578 (AU 27—k 1 650

19 | 2110579 [O Vv 1 520

20 | 2110580 |Fx=wr/3L7 1 3,000

21 | 2110582 |F w7 )T AFY 1 3,000

22 | 2110581 |rEHHYaA b 1 4,800|R3/8F

Ak - i - MR T ERKERT2ENHYET,

9

L.C40019B

2024.06



WZ13-100S5P + TOONSSP

A
WAGNER

KK R—R = RIKIR—R AL —F—
WZ13-100SSP « 100NSSP J:3

10

Ak - i - MR T ERKERT2ENHYET,

ID40007A
POS| W& rea PGy TEAT ik
1 | 2116145 |WKA—=A 1 15,100{G1/2 X 3m
2 | 2116146 |§:/AkEm—= 1 10,800|G3/8F X 3m
3 | 2116320 [ARL—F— - [ 1 4,200|G3/4F
L.D40007A

2024.06



